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4.3.2 Shows breadth of vocabulary knowledge through demonstrating understanding of word
meanings or relationships by selecting appropriate words to use in context, including content
specific vocabulary, words with multiple meanings, or precise vocabulary EXAMPLE (precise
vocabulary): In this passage, the bear could best be described as acting: (A) excited (B) playful
(C) harmful (D) curious

Yesterday we went to the garden patch to
pick strawberries.

@ What does patch mean as it is used in
the box?
A. a quick repair
B. a piece of land
C. a period of time
D. a small cut of cloth

4.2.1 Students identify the meaning of unfamiliar vocabulary by using strategies to unlock meaning
(e.g., knowledge of word structure, including prefixes/suffixes and base words; or context clues; or
other resources, such as dictionaries, glossaries; or prior knowledge)

@ The prefix ex- in the words exchange
and exclaim means
A. out.
B. into.
C. over.
D. above.
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Ask Albert Einstein
Literary Text

(The passage for these questions is located in Released ltems 2013 — Grade 5 Reading.)

4.5.2 Analyze and interpret elements of literary texts, citing evidence where appropriate by describing
main characters’ physical characteristics or personality traits; or providing examples of thoughts,
words, or actions that reveal characters’ personality traits

€ What does the letter mostly show about
April?
A. She already knows Einstein.
B. She cares a lot about Annabel.

C. She wishes she could be like
Einstein.

D. She wants to do what Annabel has
not done.

4.4.1 Demonstrate initial understanding of elements by identifying or describing character(s), setting,
problem/solution, major events, or plot, as appropriate to text; or identifying any significant changes in
character(s) over time

@ One of April’s biggest fears after she
mails her letter is that Einstein will
A. want to talk to Annabel himself.
B. not be able to solve the problem.
C. not know where to send a response.
D. be too busy to help anyone else.
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Ask Albert Einstein
Literary Text

(The passage for these questions is located in Released ltems 2013 — Grade 5 Reading.)

4.5.2 Analyze and interpret elements of literary texts, citing evidence where appropriate by describing
main characters’ physical characteristics or personality traits; or providing examples of thoughts,
words, or actions that reveal characters’ personality traits

© In paragraph 12, how does Annabel feel
after reading Einstein’s letter?

A. thankful that he understands her
troubles

B. nervous that he may not have the
correct answer

C. upset that he does not solve her
problem

D. surprised that he wants her to write
back so soon

4.2.1 Students identify the meaning of unfamiliar vocabulary by using strategies to unlock meaning
(e.g., knowledge of word structure, including prefixes/suffixes and base words; or context clues; or
other resources, such as dictionaries, glossaries; or prior knowledge)

@ In paragraph 17, the word confessed
means
A. admitted.
B. argued.
C. imagined.
D. warned.
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Ask Albert Einstein
Literary Text

(The passage for these questions is located in Released ltems 2013 — Grade 5 Reading.)

4.5.2

Analyze and interpret elements of literary texts, citing evidence where appropriate by describing
main characters’ physical characteristics or personality traits; or providing examples of thoughts,
words, or actions that reveal characters’ personality traits

@ Explain why Annabel is lucky to have a sister like April. Use details from the entire
passage to support your answer.

Scoring Guide:

Score

Description

4

Response

provides a thorough explanation why Annabel is lucky to have a sister like

April. Response includes relevant details from the entire passage.

3 Response provides an explanation why Annabel is lucky to have a sister like April.
Response includes some relevant details from the entire passage.
2 Response provides a partial explanation why Annabel is lucky to have a sister like April.
Response includes limited details from the passage.
1 Response is vague or minimal.
0 Response is totally incorrect or irrelevant.
Blank [ No response

Training Notes:
Response will explain that Annabel is lucky to have a sister like April because April does everything
she can to help Annabel with her math problem.

Details from the passage should support this idea.
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Score Point 4
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Response provides a thorough explanation why Annabel is lucky to have a sister like April. Response
includes relevant details from the entire passage.
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Score PoinT 3
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Response provides an explanation why Annabel is lucky to have a sister like April. Response includes some
relevant details from the entire passage.
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Score PoOINT 2
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Response provides a partial explanation why Annabel is lucky to have a sister like April. Response
includes limited details from the passage.
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Response is totally incorrect or irrelevant.
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The Man Who Couldn’t Stop Walking

Informational Text

(The passage for these questions is located in Released ltems 2013 — Grade 5 Reading.)

4.8.5 Analyze and interpret informational text, citing evidence as appropriate by making inferences
about causes or effects

© How did walking first affect Edward
Weston’s life?
A. It improved his health.
B. It allowed him to travel.

C. It increased his knowledge of the
outdoors.

D. It gave him a chance to earn money.

4.2.1 Students identify the meaning of unfamiliar vocabulary by using strategies to unlock meaning
(e.g., knowledge of word structure, including prefixes/suffixes and base words; or context clues; or
other resources, such as dictionaries, glossaries; or prior knowledge)

© In paragraph 2, the word challenge
means
A. reward.
B. program.
C. contest.

D. message.
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The Man Who Couldn’t Stop Walking

Informational Text

(The passage for these questions is located in Released ltems 2013 — Grade 5 Reading.)

4.7.3

Demonstrate initial understanding of informational texts (expository and practical texts) by
organizing information to show understanding (e.g., representing main/central ideas or details within

text through charting, mapping, paraphrasing, or summarizing)

@ What does paragraph 3 explain?

A. why it was hard for Weston to win
more events
B. why Weston was well-known in the
United States
C. how Weston felt about being a
sports hero
D. what Weston thought about the
United States
4.7.2 Demonstrate initial understanding of informational texts (expository and practical texts) by

using information from the text to answer questions related to explicitly stated main/central ideas or
key details

@ In paragraph 4, Weston’s walking trip
was difficult mainly because of

A.

B.
C.
D

the uneven ground.

the poor weather conditions.
the length of the journey.

the time to complete the task.

10
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The Man Who Couldn’t Stop Walking

Informational Text

(The passage for these questions is located in Released ltems 2013 — Grade 5 Reading.)

4.8.5 Analyze and interpret informational text, citing evidence as appropriate by making inferences
about causes or effects

@ Describe the kind of person Weston was and explain how this affected his walking career.
Use information from the article to support your answer.

Scoring Guide:

Score Description

Response provides a thorough description of the kind of person Weston was and an
4 explanation how this behavior affected his walking career. Response includes relevant
information from the article.

Response provides a description of the kind of person Weston was and an explanation how
3 this behavior affected his walking career. Response includes some relevant information from
the article.

Response provides a partial description of the kind of person Weston was and/or an
2 explanation how this behavior affected his walking career. Response includes limited
information from the article.

1 Response is vague or minimal.

0 Response is totally incorrect or irrelevant.

Blank | No response

Training Notes:
Response may describe that Weston was strong, fearless, persistent, and/or daring.

Response may explain that this behavior affected his career because he continued to take on more
walking challenges that were longer and tougher.

Response may explain that that behavior affected his career because it caused him to be successful.

Information from the article should support these ideas.

11
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Score PoInT 4
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Response provides a thorough description of the kind of person Weston was and an explanation how this
behavior affected his walking career. Response includes relevant information from the article.
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Score PoinT 3
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Response provides a description of the kind of person Weston was and an explanation how this behavior

affected his walking career. Response includes some relevant information from the article.
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Score PoINT 2
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Response provides a partial description of the kind of person Weston was and/or an explanation how this
behavior affected his walking career. Response includes limited information from the article.
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Score Point 1
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Response is vague or minimal.

Score Point 0
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Response is totally incorrect or irrelevant.
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